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01 ZMZYRsAZH| 1,200 1,200 0
Osta2t 1,200
oM PR U E| 1,200
-55 100,000¥x1Ex12¢ = 1,200
02 ZZEZH| 34,320 32,640 1,680
ookt 34,320
o2lgERH| 34,320
-55 250,0009x1Hx12¢¥ = 3,000
-6 175,0009x48x12¢Y = 8,400
72 165,000€x58x 128 = 9,900
-8~9¢ 155,000€x7Ex128 = 13,020
03 EZYFZEH| 19,200 20,160 A960
il 19,200
oSHYFsHFH| 19,200
-0k AL A FREHYSEH 80,0009x3Yx12¢ = 2,880
-2 §E9sFH 80,000¥x1Ex12¢ = 960
-37|SAL 3FH 80,000¢Ix16Hx12¥ = 15,360
206 A=H| 26,820 26,820 0
01 YBR=H]| 26,820 26,820 0




At : CHEALY
2 1 (700) ArHHIE gt (710) SYUHIE
Mgt @ (751) gkl 2 : (206) M=H| CHO| : 4 2J)
nl 2 2 L
T AT s A | §ha | 24
o A3tR A Ao 2 29l 1Y 6,0009x1007H = 600
o Aot QA28 S7+Y 1,000,000 x14] = 1,000
0 A|SIEAIEOREZAAE AFTY 200,000¥x14] = 200
o Al5te AR 7Y 139,0009x1807H = 25,020
207 SRIHH| 166,000 50,000 116,000
01 gy 166,000 50,000 116,000
O ot2t 166,000
0 37| SteEFFA2|A|E £ Y| 20,000,00094x14] = 20,000
0 3TAILYH 89| 146,000,0009x14l = 146,000
214 SMRALAH| 78,964 89,812 A10,848
05 #MRAH| 78,964 89,812 210,848
o Alste 22|43 =200 2 158,00094x2574 = 3,950
o A3t4 =AY charst 2 56,00094x25714 = 1,400
0 ASteEE YA A AH FR|E4H| 1,357,000¥x 12 = 16,284
0 Aoty EREZAIHE A EH| 2,000,000 16702 = 32,000
o WA U Tl FA|72|H| 225,000¥x123| = 2,700
0 AYBI|Y OfAS| A BEA|IAH QR E4H| 10,370,0002x14] = 10,370
o Al¥ae| Z= 0 FAa|H| 205,000x12¢ = 2,460
0 A5t S HYUAIAH R2| 22| 400,0009x12% = 4,800
o WEO0|EAY RALLH|(SEAL AZBHE EE S)
1,250,000 %4702 = 5,000
300 ZAAOIA 1,501,265 | 1,482,606 18,659
304 MIBREHIS 397,377 378,718 18,659
01 IR 345,891 335,639 10,252
o HZEEZ (et 2trtt E217) 1,734,602,000&x9% = 156,115
o BHZ (ot et H2I9 1,734,602,000&%x7.277% = 126,227
0 E|24GRCI(5t4at 2 HRIF) 1,734,602,00094%3.0828% = 53,475
0 AFHEAECI (5140} AL HRITL)  1,734,602,00094%0.193% = 3,348
o IRUAIELES(R7| A2 149,453,000¥%x4.5% = 6,726
02 =UHZEHRELIS 51,486 43,079 8,407
0 ZOUAAEHELZ (5140} 1,089,031,0009x3.43% = 37,354
0 LIV UL HZ (5141} 37,354,00094x11.52% = 4,304
o RUHLBAREZ(F7|A ) 149,453,000¥%3.43% = 5,127
o NEHYELF(R7A LA 149,453,000¥x1.65% = 2,466
0 ARME ST (2 7|7|oF)) 149,453,000¥x1.1% = 1,644
0 LRIV YEHR (27| 9F32)) 5,126,237%11.52% = 591
317 B7|YEESARES 1,103,888 | 1,103,888 0
o St AE= QEHSZ 55,000,000,000¥%2% = 1,100,000 1,103,888 1,103,888 0
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M : (751) 2l = . (317) BIYSEIARED chol  19))
ni 2 2 L
T AT s A | §ha | 24
0 WSO|EAER} £22F 4N BHZ 10Ex7209%x30%*x20071x9Y = 3,888
770 FYHlE 200,000 214,400 A 14,400
779 7|EtEYH|E 200,000 200,000 0
802 HHatay|ef 200,000 200,000 0
15 7|EtE L& 200,000 200,000 0
OHTAIZEANOIZY EfRTY FUT BN HELAR)
200,000,000 %14 = 200,000
800 ofH[H| 178,463 239,588 AB61,125
801 oflH|H| 178,463 239,588 A61,125
801 OfH|H]| 178,463 239,588 A61,125
01 YgtofH|d| 178,463 239,588 A61,125
o Of|H|H| 98,463,000 = 178,463




